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Light

Long lifetimes from displaced vertices
S. Knapen, T. Opferkuch, D. Redigolo, MT: 2410.xxxxx

Heavy

CP Violation 1n Lepton Flavor Violating decays
D. Redigolo, MT, A. Tesi: 2408.00847
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An experiment designed to measure the anomalous magnetic moment of the muon to a very
high order of accuracy has completed a preliminary trial run at the CERN proton synchrotron.
The run has already confirmed the results of an experiment, known as the ‘¢ minus 2’ experi-
ment, carried out at CERN five years ago and more detailed measurements are now under
way. This article describes the experiment and its relevance to the understanding of the most
mysterious of all the sub-nuclear particles — the muon.

‘Who ever ordered that ?’

From CERN Courier,
1966
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Observables Current bound
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Displaced vertices
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Electron coupling g,
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HNL + Dark Photon

Ballett, Hostert, Pascoli: 1903.07589
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Summary

e Muon experiments: COOL

e Displaced vertices: COOL

e CP violation: COOL (but you don’t know how much)
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Backup slides
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